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1) Simplify 15:3 2)  Convert the following mixed number 3) Find the percentage change from 20 to
28/4 to an improper fraction. 37
Answer: Answer: Answer:

4) Solvel9%2+7j-6=0 5)  Convert the following fraction into a 6) 14/, - 6/g
Round your solutionsto 1 decimal mixed number: 18/,
place.

Answer: Answer: Answer:

7) Solve 14s2-75-2=0 8) 0+ (-16) 9) A number was shared in the ratio
Round your solutionsto 1 decimal 3:12. The smaller share was 32.
place. What was the larger amount?

Answer: Answer: Answer:
10) 11) b 12) Find perimeter of
triangle
b b a=2lin,b=99in
A B =50 a o] ¢
Find the Angle at side A. Mesasure angle boc 3
Answer: Answer: Answer:
13) 15 x (-14) 14) 15) 63,
16
A =47 B
Find the Angle at side B.
Answer: Answer: Answer:
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16) Solve6j2+14j-6=0 17) 3 8gy-2 1 18) (-5) - (-77)
Round your solutions to 1 decimal
place.
Answer: Answer: Answer:
19) Solve by factorising 20) Round 30.2505318 to the nearest 10
i2+7j-8=0
Answer: Answer:
Total: /20
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1)5:1 2) W 3) 85%
8)-16 9) 128 10) 130
15) 4 16)j=0.40r-2.7 17)171g
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Answers:
4)j=0.40r-0.8 5) 145 6) 3%/, 7)s=0.70r-0.2
11) 160 12) 219in 13) 14) 133
18) 72 19)j=10r-8 20) 30.3
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